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Sig. of Invigilator.

Time allowed: 25 Minutes

SOCIOLOGY HSSC-I
SECTION — A (Marks 20)

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.

it should be completed in the first 25 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct option i.e. A/ B/ C /D. Each part carries one mark.

(1)
(i)
(iii)
(iv)
v)
(vi)
(vii)

(viii)

(ix)
(x)
(xi)
(xii)
(xiii)
(xiv)
(xv)
(xvi)

(xvii)

{xwiii)
(xix)

(xx)

Sociology deals with matters

A Historical B. Palitical € Economic D Social
Rehabilitation of criminals 1s the duty of

A Police officer B Jail C Judges D Parole officer
Science is based on

A Observation B Experiment C Theory D Research
Social action cannot be completed without

A Actor B. Norms C. Objective D. All of these
Society is based on

A Norms B. Social action  C. Culture D Social interaction
‘Reproduction’ is a function of the group

A Secondary B Formal G Primary D Local

English language in our society is the result of

A AccommodationB Assimilation C Acculturation  D. Cultural diffusion
If the son of a poor farmer becomes a doctor, it is an example of mobility.

A Negative vertical B Positive vertical

c Negative horizontal D Positive horizontal

Respect for national flag is (a) ;

A Social value B Cultural value C Law D Folk way
Everything which is practised by members of a society is called culture.

A Ideal B Real Cc Material D Non-material
According to the Sociologists criminal behaviour is

A Accidental B Natural C Hereditary D Product of society
Beliefs are related to an individual's

A Emotions B. Wisdom C. BothAandB D None of these
A large number of people following their old values, is called society.

A Urban B. Modern c. Traditional D. Rural
Distribution of power and authority to maintain social control in a society is the function of institution.
A Educational B. Religious E: Palitical D. Economic
Social stratification is determined by

A Caste B. Education C. Weaith D All of these
The concept of Relevance/Reference group was introduced by

A Green B. Hymen C. Durkheim D Weber

Which of the following statements is CORRECT?

A Family formally satisfies the needs of its members

B Family is a temporary group

% Social interaction is formal in the family

D Family maintains social control

Which of the following is included in the means/sources of Information technology?

A Computer B TV (2 Mobile phones D All of these
Social change starts with

A Awareness B Interest € Education D Technology
Getting a degree is an example of

A Positive sanctions B Negative sanctions

C. Formal sanctions D. Both Aand C
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SOCIOLOGY HSSC-I

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE:- Answer any fifteen parts from Section 'B(a)’, one part from Section ‘B(b)’ and any three questions
from Section ‘C' on the separately provided answer book. Use supplementary answer sheet i.e.
Sheet-8 if required. Write your answers neatly and legibly.

CTION - B (Marks 50

Q.2 a. Attempt any FIFTEEN parts. The answer to each part should not exceed 3 to 4 lines. (15 x 3 = 45)
(i) How has Parsons defined Sociology? (i) What is the role of sociologist in agriculture?
(iii) Write down the similarities between Sociology and Psychology
(iv) Teacher teaches a class._ It is a social action. Prove it.
(v) Respect for women, education, respect for elders, living standard, modern dress, concept of Halal and Haram,
decoration of house. Separate Social and Cultural values from the above examples.
{vi) Define Status and Role. {wii) Give three examples of Role conflict
(wiif) Define Culture. (ix) What is Science?
(x) Washing hands before eating, getting ticket for travelling, respecting the parents, following the traffic rules. Identify

the Formal and Informal norms from the above examples.
(xi) What is the difference between Conflict and Competition?

(xii) Define Acculturation. (xiii) Write down the characteristics of Class.
(xiv) Define Sedentary and Nomadic society.
(xv) Give three examples each of Positive and Negalive sanctions.
(xvi) What is the difference between Horizontal and Vertical mobility?
(xvii) Define Formal and Informal group. (xvii)  How can the values be identified?
(xix) Define the term Social stratification. (xx) Write down any three functions of Economic institution
(xxi) Write down any three functions of Educational institution.
b. Attempt any ONE part. (1x5=15)
(n Define Social change and write down the stages/steps of social change.
(ii) Describe the causes of Role conflict.
SECTION - C (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 10 =30)

Q3 Define Cultural Uniformity. Also describe the causes of Cultural Uniformity.

What role does family play in an individual's life?

Sociology is the science of society. Discuss.

Define Social Action and Social Interaction. Explain the difference between Social Action and Social Interaction.
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